MODEL QUESTION
CLASS-XI

HUMAN ECOLOGY AND FAMILY SCIENCES

Assertion-Reason Question (MCOQ):

For Question Nos.1 and 2, two statements are given — one labeled Assertion (A) and the other labeled Reason (R).
Select the most appropriate one from the given alternatives A, B, C and D and rewrite the same.

Q. 1.

(A) Both A and R are true and R is the correct explaination of A.
(B) Both A and R are true but R is not the correct explaination of A.
(C) A istrue but R is false.

(D) A is false but R is true.

Assertion (A) : According to WHO (World Health Organization) Health is state of complete physical,
emotional and social well being not merely the absence of disease or infirmity.
Reason (R) : A healthy eating pattern along with regular exercise well help to remain fit. 1

Assertion (A) : Individuality of each child should be respected through clothes, even if they are twins.
Reason (R) : It is important that pre-schoolers be given a chance to express their choice while making a
purchase for their clothing. 1

Case-Study Based Question:

The following question is case-study based question. Read the case éarefully and write the answer of the
questions that follow: ’

With the advent of modern technology the range of communication has expanded tremendously.
New communication technologies such as mobile phone are emerging with exciting features that have improved the
quality and capacity of broadcast. The handy size of equipment has made them convenient for use in rural as well as
remote areas. It has also increased the reach of modern communication technology.

i) Give an example of modern communication technology. 1
if) Which method of communication is the most effective way to reach even the
remote areas? 1

iii) Suggest one benefit of modern communication technology. 1



